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Nofte:

(a)
(b)
(c)

(d)

In questions numbered 1 to 20. a question 1s followed by data in the form of two
statements labelled as I and II. You must decide whether the data given in the
statements are sufficient to answer the questions. Using the data make an
appropriate choice from (1) to (4) as per the following guidelines:

Mark choice (1) if the statement I alone is sufficient to answer the question.
Mark choice (2) if the statement II alone is sufficient to answer the question.
Mark choice (3) if both the statements I and IT are sufficient to answer the
question but neither statement alone is sufficient.

Mark choice (4) 1f both the statements I and II together are not sufficient to
answer the question and additional data 1s required.
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Sub questions

Question Number : 1 Question Id : 3944843122 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Is the positive integer ‘n’ even ?
&S5 SJPT° 080 n HONOP ;DT ?

(I) 12 » 1s an even integer.
12 n2,.8 0008

(II) 11 & is an odd integer.
11 n2.8 230 QoL

Options :
1. %1
2.¥2
3. %3
4. % 4

Question Number : 2 Question Id : 3944843123 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Among 4, B, C, D and E, who 1s the heaviest?

4, B, C, D, E®OS D5 965506 3EIR a3 E0?

(T} C 1s heavier than only 4.

AES) SPSD € WD .

(I) D 1s lighter than B, but heavier than C and E.
C E®EDS) D803 2850988 B Eae) €880565 285095 558 b

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 3 Question Id : 3944843124 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



What 1s the perimeter of the equilateral triangle?

DedaTaTu (e323230 O3E) tHEY Tored Doed?

(I) All the sides are equal.
€0 202N NP0 .

i
: . 33 .
(I) The area of the triangle 1s 5': Sq. units,

123230230 BF°50 ”’f . 0T

Options :
1. %1
2.¥2
3.%3
4, % 4

Question Number : 4 Question Id : 3944843125 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Find the value of x7

x o)V Senfeadn ?

(I) x 1s divisible by 2.
x, 25 2rfodaED,

(I}  x is divisible by 7.
x, 73 2rfodadcd.

Options :
1. % 1
2. %2
3. %3
4.v 4

Question Number : 5 Question Id : 3944843126 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



If ai. aa. .... ago are in arithmetic progression. then the common difference 15

ai. ax. .... an &0 ©0¥ES S S0T) TFITSE BB (HT0SB0)
()  ass—ap=>52

(II) ag =253

Options :
1.v ]
2. %2
3.%3
4. % 4

Question Number : 6 Question Id : 3944843127 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which train 15 moving with a greater speed?
) Ben B0 DN E 2

(I) A train P of length 300m crosses a man in 18 seconds,

30000, 8FCH)) DEV P 2.8 05550 18 DEXNS 0356

(II)  Another train Q of length 250m crosses a bridge of length 350m n 20

seconds.
25000, €399 08 Ben @ 350 8. SFET S HOBOD 20
EDES e398,

Options :

1. % 1

2. %2

3.¢3

4. % 4

Question Number : 7 Question Id : 3944843128 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



343x2y+y3

What is the value of

4xy?
x2+3x%y+y?
4963?]; = FALSVENV N Te %,
(I) x=43

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 8 Question Id : 3944843129 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s relative speed of the boat?

D83 TANEY VS JMTOES ?

(I) Speed of boat in still water 15 2 kmph.

DerEes D3 HevS o foerdy 2 8 &,

(I)  The boat 1s moving against the current.

(2063735 BCRCOTR 20800 Eeen ) &.

Options :
1. % ]
2. %2
3.%3
4.9 4

Question Number : 9 Question Id : 3944843130 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Is  a prime number?

n DTS oD ?

(I) The sum of positive divisors of misn +1.

n QRS O 2723570 [0 1 +1,

(I)  m1s a positive integer.
n 2.8 O T 050.

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 10 Question Id : 3944843131 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If a,b are positive integers such that ab = 84, what 1s the value of a?

a,b e O TOSeD, ab =84 OB a NV 0657

(1) a=h

a

(IT) Q*igﬁ 10

Options :
1. % 1
2.9 2
3. %3
4. % 4

Question Number : 11 Question Id : 3944843132 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



What 15 average of x, 3, zand # ?

X, ¥, z. t © cOf1E0 dOeh?

(I) The average of x and ¢ 15 5 and the average of y and z 15 also 5.
X, £ € O1eN 5 005 v, z @ Afew 87 S

(IT) X, ¥, z and r are integers = 1.
X, ¥ 2. £ O0 oJPTP05eN JHBA) = 1.

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 12 Question Id : 3944843133 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the interest earned in one financial year on a term deposit in a bank?
2,5 2056 2.5 HOWe3 erd8 Sy SnSo D 2.8 esd
H0SSIBINES’ e3HODW 5O DOes?

(I) The amount of deposit is Rs.10000.
SrC0sy a0 G, 10000.

(II)  The rate of interest 15 6.5% per annum |
5BBEN DFO8 6.5%.

Options :
1. %1
2. %2
3. %3
4. v 4

Question Number : 13 Question Id : 3944843134 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Does the Set 4 contamn primes?

o 4 DT VORI SOAGOLN0?

() A has 99 elements in it,

A & 99 SHrerseen Eersd.

() A={100'+2, 100!+ 3,..,100! + 100 }

Options :
1. %1
2.¥2
3.%3
4, % 4

Question Number : 14 Question Id : 3944843135 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Is n a perfect square of an integer?

n 2.8 sJr T 080 TW0EY D00 G 7

(I} #n leaves remainder 2 when »n is divided by 4.
433 0 2rHoDDNCH 300 2 SN0 .

(I}  n leaves remainder 1 when n 15 divided by 8.

7 a8 RODSY 300 1 SN0,

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 15 Question Id : 3944843136 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



What is the number of vertices of the regular polygon?

155 2570290235 2850 HowE Does?

(I) The sum of the angles subtended by the sides at the centre of the polygon
1s 2w

225302022 ' ToH0 SO TR Zheren TaAw Fere Fnbo 2

(II)  The number of diagonals of the polygon 15 170.

&3 2302022 CANE) VET® dowE 170.

Options :
1. % 1
2.¥2
3.% 3
4. % 4

Question Number : 16 Question Id : 3944843137 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Find the value of Sin’@ + Sinf Cos@+ Cos 6.

Sin’@ + Sinf Cosf+ Cos2@ )N ST,
mw
(I) g € (ﬂ,;)

(IT) Snf = Cosd

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 17 Question Id : 3944843138 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



What 1s the least value of 87
B o) s N6 ) OEs?

tand 0 O
(I) The matrix [ 0 1 1] 15 singular
0 i S |

tand 0 0O
g [ﬂ 1 1] 2.8 e den Aress
0 T A

M) 0<6 <m/4

Options :
1.v'1
2. %2
3.%3
4. % 4

Question Number : 18 Question Id : 3944843139 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What are the co-ordinates of the point P?
P 20 QAUPIHSED 2a) ?

(T) P lies on the line of y = x .

DGO D P S0oLnod .

(I P is at a distance of v/18 units from the origin.

SO0 OB P 9RO V18 AOFrAL SrdoS &od.

Options :
1. # 1
2. %2
3.¥3
4, % 4

Question Number : 19 Question Id : 3944843140 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Isg: R — R an even function?

g: R - R 2800 1HoDaST?

(I) gx)=ax®+ bx? + cx® +x

(I)  a, b, c are integers

a, b, ¢ €0 PP OSED

Options :
1.¥1
2. %2
3. %3
4. % 4

Question Number : 20 Question Id : 3944843141 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s the distance between the towns A and C 7

A, C QYT DR QFPO0 DO ?

(I) It takes 60 minutes to go from A to B.

A DOG B T¥Er08 60 Qadaren Cenod) .

(II) It takes 90 minutes to go from B to C.

B c0OCE C 50 308 90 Qod0aren enod.

Options :

1. % 1

2. %2

3.%3

4.v 4

Sub-Section Number : 2
Sub-Section Id : 394484317
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3944843142 Question Type : MCQ Option Shuffling : No Display Question



Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Problem Solving

DS0RT S AT

Sequence and Series

g0 s Eairen, BLaeD

DOG : 071504 1200103
(1) CAB
(2) CAT
(3) CAR

(4) CAN

Options :
1. % 1
2.9 2
3. %3
4. % 4

Question Number : 22 Question Id : 3944843143 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

DI D

sequence and Series

e EAren, FraeD

VERB : 220

|

1802 :: NOUN:
(1) 14152216
(2) 14221415
(3) 14221514

(4) 14152214

Options :
1. % 1



2. %2
3.¢3
4. % 4

Question Number : 23 Question Id : 3944843144 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

D50R s AT

Sequence and Series

e ESren, Feaven

BEYOND:  :: WOULD: TLRIA
(1) YCUKLA
(2) YBVLEA
(3) ZCVMLB

(4) ZDUNMC

Options :
1. %]
2.¥2
3.%3
4. % 4

Question Number : 24 Question Id : 3944843145 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

D50R s AT

Sequence and Series

e ESren, Feaven



How many i’s are preceded by vowels in this sequence?
i 50 BOTOOD et SN IV) 1 €N EFR) 0N

foileifioweihiumpieaghia

(1) 6
(2) 5
(3) 4
4) 7

Options :
1. %1
2. %2
3.3
4, % 4

Question Number : 25 Question Id : 3944843146 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

DI D

sequence and Series

e EAren, FraeD

28, .344.120.
(1) 24. 2198
(2) 24,2194
(3) 26, 2198
(4) 26. 2194

Options :
1.v1



2. %2
3. %3
4. % 4

Question Number : 26 Question Id : 3944843147 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

D50R s AT

Sequence and Series

e ESren, Feaven

BER L

(1) CDN : O
(2) DET: P
(3) FEN: T

(4) FGQ :H

Options :
1. % ]
2.¥2
3.% 3
4. % 4

Question Number : 27 Question Id : 3944843148 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

D50R s AT

Sequence and Series

e ESren, Feaven



QOMK : IGEC :: XVIR:
(1) QMKS
(2) PNLJ
(3) PMOJ

(4) OPSM

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 28 Question Id : 3944843149 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

DI D

sequence and Series

e EAren, FraeD

LAKE: PEOI :: MEAT:
(DSIMX
(2)REOX
(3)QIEX
(4) QEIX

Options :
1. % 1

2. %2
3.¢3
4. % 4

Question Number : 29 Question Id : 3944843150 Question Type : MCQ Option Shuffling : No Display Question



Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Problem Solving

DS0RT S AT

Sequence and Series

g0 s Eairen, BLaeD

Rsuv:StvwiuTuwx:
(HUvWX
(2)uVYZ
GluVXY
MHUvxy

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 30 Question Id : 3944843151 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

D50R s AT

Sequence and Series

e ESren, Feaven

LAMP:ETFI:: BAND:
(1) VURX
(2) UTGW
(3) NBST
(4) UTHX

Options :
1. %1
2.¥2
3.%3



4. % 4

Sub-Section Number : 3
Sub-Section Id : 394484318
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 3944843152 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note : In questions numbered 31 to 35 pick the odd thing ount.
B0DE - 31 0B 35 385 e (D1 o8 HoFODE HioHsw.

The number that does not fit in the following sequence is
808 @550 S Qe Sowg
183,21, 31,45, 57.73

(1) 31

(2) 45

(3) 57

(4) 73

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 32 Question Id : 3944843153 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note : In questions numbered 31 to 35 pick the odd thing ount.
B0 : 31 Aod 35 I6% e (B od HoFad6 Hlorhs.



15,221,310, 43, 77

(1) 31
(2) 43
(3) T
(4) 13

Options :

1. % 1

2. %2

3.3

4. % 4

Question Number : 33 Question Id : 3944843154 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Note : In questions numbered 31 to 35 pick the odd thing ount.
5.00% - 31 oM 35 305 e (ST od HoFO HOoTHSY.

24, 35. 48, 63. 80, 99. 122
(1) 63
(2) 80
(3) 99

(4) 122

Options :
1. % 1
2. %2
3.%3
4.9 4

Question Number : 34 Question Id : 3944843155 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Note : In questions numbered 31 to 35 pick the odd thing ount.
Be0DE - 31 o 35 38% e 1S ed D006 Hlothsw.

80, 150, 252, 392, 576, 812

(1) 812

Options :
1.v 1
2. %2
3.%3
4. % 4

Question Number : 35 Question Id : 3944843156 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note : In questions numbered 31 to 35 pick the odd thing ount.
5.00% - 31 oM 35 305 e (ST od HoFO HOoTHSY.

120, 210, 336. 504, 720, 990, 1332
(1) 120
(2) 210
(3) 336

(4) 1332

Options :

1. %1

2. %2

3.%3

4.9 4

Sub-Section Number : 4
Sub-Section Id : 394484319
Question Shuffling Allowed : Yes



Question Number : 36 Question Id : 3944843157 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Note : Each of the questions from 36 to 45 follows a definite patiern. observe the
same and fill in the blanks with suitable ones.

fafE 36 cndd 45 S0%0 Mo BNd1en 28 203838 Adhdrdy
Fedurryon. & DObSTR FHQod HOGhD PHITTTOS TP
srooviod.

caromn__ar_nacrona_aomn_car

(1) 4.0.1. 3

(2) ao.ca
(3) a,¢, 0.4

4) 4.1.0.a

Options :
1. %1
2.2
3.%3
4. % 4

Question Number : 37 Question Id : 3944843158 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite patiern. observe the
same and fill in the blanks with suitable ones.

fafE 36 cndd 45 S0%0 Mo BNd1en 28 203838 Adhdrdy
Fedurryon. & DObSTR FHQod HOGhD PHITTTOS TP
srooviod.



0.5.4.5.12.5. 24.5. 40.5,60.5.
(1) 67.5
(2) 71.5
(3) 79.5

(4) 84.5

Options :
1. %1
2. %2
3.%3
4.¢ 4

Question Number : 38 Question Id : 3944843159 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Note : Each of the questions from 36 to 45 follows a definite pattern. observe the
same and fill in the blanks with suitable ones.
BDDE36 DB 45 365 o (Do 2E 9SS JAhIFDY

3Ny on. & DAhSTR Moo HACLD MirmTes o
Srfodiod.

7. 14. . 36, . 66

(1) 23.49
(2) 21.49
(3) 21. 42

(4) 23.42

Options :
1.¥1
2. %2
3.% 3
4. % 4

Question Number : 39 Question Id : 3944843160 Question Type : MCQ Option Shuffling : No Display Question



Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite patiern. observe the
same and fill in the blanks with suitable ones.

fafE 36 cndd 45 S0%0 Mo BNd1en 28 203838 Adhdrdy
Fedurryon. & DObSTR FHQod HOGhD PHITTTOS TP
srooviod.

17.37.65,82,
(1) 101
(2) 122
(3) 170

(4) 197

Options :
1.v1
2. %2
3.%3
4. % 4

Question Number : 40 Question Id : 3944843161 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Note : Each of the questions from 36 to 45 follows a definite pattern. observe the
same and fill in the blanks with suitable ones.
Mo 36 nd 45 S6%0 fe Hdyen ¥ od38Ea Adbdrdy

3Ny on. & DAhSTR Moo HACLD MirmTes o
Srfodiod.



307, . 313. + 331, . 347, 349, 353, 367

(1) 311, 319, 341
(23 3L 387,337
(3) 310, 318, 337

(4) 309. 319, 337

Options :
1. % ]
2.¥2
3.%3
4. % 4

Question Number : 41 Question Id : 3944843162 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Note : Each of the questions from 36 to 45 follows a definite patiern. observe the
same and fill in the blanks with suitable ones.

fafE 36 cndd 45 S0%0 Mo BNd1en 28 203838 Adhdrdy
Fedurryon. & DObSTR FHQod HOGhD PHITTTOS TP

srooviod.
GOD. , LTL, . JCR
(1) KQE. QXM

(2) IQF. PXM
(3) JQE. QYM

(4) KPE. PYN

Options :
1. % 1
2.¥2
3.% 3



4. % 4

Question Number : 42 Question Id : 3944843163 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Note : Each of the questions from 36 to 45 follows a definite patiern. observe the
same and fill in the blanks with suitable ones.

fafE 36 cndd 45 S0%0 Mo BNd1en 28 203838 Adhdrdy
Fedurryon. & DObSTR FHQod HOGhD PHITTTOS TP
srooviod.

MODIL __ .QKHE.SIC.
(1) ONEH. UGLA
(2) OMFG. VHLA
(3) OMEL UHLA

(4) OMFG. UGLA

Options :
1. % 1
2. %2
3.%3
4.v 4

Question Number : 43 Question Id : 3944843164 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Note : Each of the questions from 36 to 45 follows a definite patiern. observe the
same and fill in the blanks with suitable ones.
fafE 36 cndd 45 S0%0 Mo BNd1en 28 203838 Adhdrdy

Fedurryon. & DObSTR FHQod HOGhD PHITTTOS TP
srooviod.



BY, CX,EV, GT.
(1) IR

(2) 1Q
(3) KP

(4) MN

Options :
1. % 1
2. %2
3.¢¥3
4. % 4

Question Number : 44 Question Id : 3944843165 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern. observe the
same and fill in the blanks with suitable ones.

Mo 36 nd 45 S6%0 fe Hdyen ¥ od38Ea Adbdrdy
3Ny on. & DAhSTR Moo HACLD MirmTes o
Srfodiod.

10.4.5.3.5.3.75. . 1125
(1) 5.25
(2) 5.5
(3) 4.25

(4) 6.75

Options :
1. %1
2.¥2
3.%3



4. % 4

Question Number : 45 Question Id : 3944843166 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Note : Each of the questions from 36 to 45 follows a definite patitern. observe the
same and fill in the blanks with suitable ones.
ASDE 36 BB 45 I6% Ao Dfen 28 DIEDHS AAHIATDY
TSNy on. 88 AOhSTR M0 KOGHD HIFFTTOS e
Sroociod.

TRUMP. PTRUM. . UMPTE, RUMPT
(1) RMPTU
(2) MPTRU
(3) MPTUR

(4) MTRUP

Options :

1. %1

2.¢2

3.%3

4. % 4

Sub-Section Number : 5

Sub-Section Id : 394484320
Question Shuffling Allowed : Yes

Question Id : 3944843167 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 48)



Consider the following table that gives the production of different crops A. B. C. D,
E by a state from 2010 to 2015 1n muillion tonnes. Based on this information. answer
questions 46 to 48.

2,8 TrloeS 2010-2015 SO0 NS Hoeyen A, B, C, D, E © ceh &
(DOOHS £3650) ") § D000 VST (BB HEIE STy ehod.
& QS0 esrdorT 46 oG 48 S8% Mo dyo%

AT T 69 SOES,

Year Crops «)OE)eY)

:3053!53(5;1}3 A B c D E
2010 412 371 510 621 435
2011 436 396 522 609 453
2012 472 404 512 037 471
2013 514 400 540 662 458
2014 504 422 561 694 482
2015 532 453 587 .6 504

Sub questions
Question Number : 46 Question Id : 3944843168 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

In which year. crop *C” has registered highest percent of production over its
previous year?

Q) D056 355065 H0E C Q) (BH0 H0566)50 Ear) eachHE &5 18
e3P DRoB?

(1) 2011
(2) 2013
(3) 2014

(4) 2015



Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 47 Question Id : 3944843169 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In the year 2014, which crop has registered highest percent of production over that

of the year 20127

2012 & PO, 2014 HOSSIBIVE 2 HOE) e0eh :OE 56538 TP

SR TROE?

() A
(2) B
(3) C
(4) D

Options :
1. # 1
2. %2
3.3
4. % 4

Question Number : 48 Question Id : 3944843170 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The percentage merease in production of crop A’ over the entire period 2010 to

2015 s

B0 2010 HOA 2015 e HOE) A 565386Y D TS50

2000

() ——

103

2000
(2} 515

3000

{9

104

3000

o

107

Options :

1.v1

2. %2

3.%3

4. % 4

Sub-Section Number : 6

Sub-Section Id : 394484321
Question Shuffling Allowed : Yes

Question Id : 3944843171 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (49 to 53)



The expenditure under five heads of account. A. B. C. D, E of a company is shown mn

the following Pie chart. Based on this data. answer the questions from 49-53.

2.8 508 H020H0DD 2N HOD A B, C D, E o 1806 D
z‘i’)@é@é“ LrEato 20R00. & HT040 edom 49 oG 53 S0%

QAT Wod §OL.

A | 10%
B | 20%
c |a0%
D |13%%
= 162%

Sub questions

Question Number : 49 Question Id : 3944843172 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The difference in the sectorial angles of expenditure between the heads of accounts

under C and D 1=
C, D HC0e 120 D IOE HoD0HOD T e e o
(1) 48°
(2) 64°
(3) 96°
(4) 104°
Options :
1. % ]
2. %2

3.¢3
4. % 4



Question Number : 50 Question Id : 3944843173 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If Rs. 120 lakhs 1s the total expenditure in an year. then the ratio of the expenditures
under the heads B and E to that of C as 1s
2.5 505653506 BuSo ) 12005 TS, B.E © (800 B30 b5,

C 3 DB e D yed

o
—

(1)3:4
(2} 527
(3) 9:11
(4) 11 :12

Options :

1. %1

2. %2

3.%3

4.v 4

Question Number : 51 Question Id : 3944843174 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



In a particular year. the company decided to cutdown the expenditure under the head C
to the extent of 5% and wanted to mcrease 2% in A and 3% m D. If the annual
expenditure during that yvear is 96 lakhs, then the total expenditure towards the heads A

and D ( in lakhs of rupees) 1s
2,8 005535065 C HED 8065 &edy DI 5% G50 SNotHER. A Bodd
2% OGN D 1808 3% DONETBOD0H . & $0ses 35065 o )

96 © % N SoND, A HOCH D © (80 IS0 i) (5F. oL o).

Options :
1.¥ 1
2.% 2
3.%3
4. % 4

Question Number : 52 Question Id : 3944843175 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The average expenditure under various heads of the company 1s equal to the

expenditure under which of the following heads of account?
5000 T30E) DDE HEVE B0 Hiied D) 9B & DD 180 wH)
A0 07

(1) Calone C2.83®

(2) Balone B2,%,%

(3)DandE D 0O E

(4)AandB A SO0 B

Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 53 Question Id : 3944843176 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
I a particular year. if the expenditure under D 15 Rs.16 lakhs, then the expenditure
under B is ( in lakhs of rupees)
2.8 5058535065 D (808 ) 16 ©50 EProhSS, B 1808 1) (5.
o5 oY)
(1) 18
(2) 21
(3) 24

(4) 25

Options :
1. % 1



2. %2

3.3

4. % 4

Sub-Section Number : 7
Sub-Section Id : 394484322
Question Shuffling Allowed : Yes

Question Id : 3944843177 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (54 to 55)

In a class of 30 students, 15 can speak Marathi. 17 can speak Hindi and 13 can speak
English. 5 students can speak both English and Marathi and two out of these can also
speak Hindi. 6 students speak only Englich and 7 speak only Hindi. Based on this

mformation answer the following questions 54 and 55,

30 0O JTesthes SN, 15 0O HTO STEPEHON, 17 0O Srod
SHBAD 13 OB 2ONN STFEFBHOS, 5 0O Darzthen 2005 SO
SHTO BoBOBA STrEFSHed HOH oS dH rod Sy
STEFBHD. 6 0O DTrshen ROAR STHBD. 7 0D 0D ST
AFEFCiEEt. & OTodo aeprdomr 54 HOc 55 [dE)o%
NPT ) .

Sub questions

Question Number : 54 Question Id : 3944843178 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Number of students who can speak English and Hindi only

2002 DO FF0d SF(BH SFEFSKD Do Sowg



Options :
1.¥ 1
2. %2
3. %3
4. % 4

Question Number : 55 Question Id : 3944843179 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many students can speak only Marathi 7
SNTO ST D05 SHOB DT Een STEPEHEE?

(17
(2) 6
(3) 5

(4) 4

Options :

1. % 1

2. %2

3.%3

4.9 4

Sub-Section Number : 8
Sub-Section Id : 394484323
Question Shuffling Allowed : Yes

Question Id : 3944843180 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (56 to 60)



Answer the questions 56 to 60 based on the following table. and the rules stated below:

56 00 60 SBE (e (D105 180 AADITOENMH RO HOC HEJK

e3P OOTT 2360720 Meadd]

1) If the first and last letters of a word are consonents then codes are
interchanged:;
2,8 D0 TI0E) B0CHES . DD e Trew FENe) oS aved §5
G050 ST O

11) If the first and last letters of a word are vowels. and they are replaced by

the symbol f:
2,5 3¢50 O30y DocHe3. D630 o8 TPEW €9t JEN LONS TE3R)
B O 155833 Dotrd)

111) If two vowels come togher in a word then they are replaced by the symbols
that come next to the vowel in the chardt

2,8 50T BOED TR IEN SENTE S, 3 a¢3 hoared
98 5 §6 & §6 Tabhod

letter |[D|F|H[J|LI{N|PIR[S|T [W|O]|I |E
Symbol | 1|23 |4 |5|6|7|8|*| @ |%

U
th
b=

Sub questions

Question Number : 56 Question Id : 3944843181 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The code for JOINT 1s
JOINT & G H¢50
(1) @£&64
(2) 4£6&@
(3) £@4&6

(4) 6%* @4



Options :
1.¥ 1
2. %2
3. %3
4. % 4

Question Number : 57 Question Id : 3944843182 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The code for FLOWS 1=
FLOWS § §6 &0
(1) 25%%*
(2) #58%2
(3) $*52%

(4) S2*£@

Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 58 Question Id : 3944843183 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Thsssds S WoDDS ie
WOODS & §6 H0
(1) *$8%2
(2) 1%&&*
(3) *££1%

(4) £%%45

Options :



1. %1
2. %2
3.3
4. % 4

Question Number : 59 Question Id : 3944843184 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The code for ORTHO 1=

ORTHO & &6 Ho

(1) p83ap
(2) $8a3%
(3) B3a8pB

(4) psa3p

Options :
1. % 1
2.% 2
3.%3
4. 4

Question Number : 60 Question Id : 3944843185 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The code for SPORTS is

SPORTS & §& Hd50
(1) *7$8@*
(2) 7*8@$7
(3) B@$£%S

(4) £@4%E

Options :
1.¥ 1



2. %2

3. %3

4. % 4

Sub-Section Number : 9
Sub-Section Id : 394484324
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3944843186 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

It TRACE 1s coded as USBDF then the code word for ARSON is
TRACE & USBDF a0 §6 TR, ARSON ¥ 86 H0
(1) BSTPO
(2) BTUQP
(3) BUVRS
(4) BVWST
Options :
1.v 1
2. %2

3. %3
4. % 4

Question Number : 62 Question Id : 3944843187 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



If REPLEH i1s coded as HELPER. the code for COMBINE 1s

REPLEH & HELPER % & T . COMBINE %) §& H30

(1) EMBINPD
(1) ENIBMOC
(3) EOCDNQR

(4) EPQRODC

Options :
1. %1
2.2
3.%3
4. % 4

Question Number : 63 Question Id : 3944843188 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If CUPBOARD is coded as DROABPCT] then code word for PRACTICE 15

CUPBOARD & DROABPCU o €6 ©0. PRACTICE 5 86 580

(1) ETCIPRA
(2) ERPTIAC
(3) ECTICAPR
(4) EPRATIC

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 64 Question Id : 3944843189 Question Type : MCQ Option Shuffling : No Display Question



Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If ENGLAND is coded as 1234526 and FRANCE is coded as 785291 then the code

for 381191 1s
ENGLAND & 1234526 %, FRANCE & 785201 e §6 S, 3811901
0 €& Do

(1) CYPRUS
(2) TURKEY

(3) CANADA

(4) GREECE

Options :
1. % ]
2.% 2
3.%3
4.v 4

Question Number : 65 Question Id : 3944843190 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



In a certain code 716 means SWEET AND HOT 537 means COFFEE IS SWEET

and 236 means TEA IS HOT. Then 536 means

2,8 €6 HBrneY 716 @0B) SWEET AND HOT &8, 537 908 COFFEE IS
SWEET Q). 000 236 @0 TEAIS HOT ed =80, ea)dd 536
@08 @00

(1) COFFEE IS HOT
(2) COFFEE IS SWEET
(3) TEA IS SWEET

(4) SWEET IS HOT

Options :

1.¥1

2. %2

3. %3

4. % 4

Sub-Section Number : 10
Sub-Section Id : 394484325
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 3944843191 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

6, Dcho, @ode Hoien



Today 1s Friday. The day after 302 days willbe

& ez DHEardo. 302 Hare) ddard Ge

(1) Saturday (1) FQeB0
(2) Friday (2) HIBEG0
(3) Monday (3) AT H0
(4) Sunday (4) sOHIG0

Options :

1.v1

2. %2

3.% 3

4. % 4

Question Number : 67 Question Id : 3944843192 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

6, Dcho, @ode Hoien

How many times the hour and minute hands of a clock will be at right angle in a day

of 24 hours?
2.5827S°Q 24 10O DRLATD KoL SHOAN ADVAO SNEVEV ©02
06T Soeran?

(1) 44

(2) 40

(3) 22

(4) 20

Options :



1.¥1
2. %2
3.%3
4, % 4

Question Number : 68 Question Id : 3944843193 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

&6, HSocho, eHofe DSien

At what tume between 5.30 and 6.00 will the hours hand and minutes hand of a clock

will be at right angle?

h

30 50O 6.00 NEIE & NHANOS HAATTEHB0 SR HoLre), ATFe

Sneven ©o2) oS Gotraw,

o
£47 2
(1) 543 =

7

(2) 543 5

(3) 5.40

(4) 545

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 69 Question Id : 3944843194 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Date, Time & Arrangement Problems

26, Hlcho, eHefe HlSien

If A’s father 1s B, C is the father of B and D 1s A’s mother. then how is C related to
D?
A B30E), 5013 B. BE 5018 € 0O A A30E) 4O D e000@ DB C o)

NGRS doorR) O Gar) th?

(1) Father (1) 0153
(2) Nephew (2) 3){{}{}_}“}@
(3) Father-in-law (3) 3%
(4) Uncle (4) 355&’3@30@
Options :
1. %1
2. %2
3.¢3
4. % 4

Question Number : 70 Question Id : 3944843195 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

S0, Hcho, @hode HdHien



Mr.P left home for the bus stop 30 minutes earlier than usual. It takes 18 minutes for P
to reach the bus stop. If P reaches bus stop at 9.00 am. then at what time does P usually

leave house for the bus stop?

P /056508 D 1e35mm) 30 DWaren SN0 Q030G D ) Ko
DODENTOW. DV 'R DHOEIETREP 50 18 DSNared N0 200
TR B0 P 5. 9.00 5 TEHEFOT), @68 2083008 arrEe o P 2% )
o Oz 200eNT0 D0CH0 OO 2

(1) ©5.9.08 am
(2) ©5.9.10 am
(3) 5 .9.12. am

(4) ©5.9.13 am

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 71 Question Id : 3944843196 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

26, Hdcho, eHofe HlSien



An express train departs from station X at 5.00 am with maximum allocated speed 120
kmph. The tram is scheduled to arrive station Z and return to station Y to halt at night.
At what time the train will reach station Y. if the total waiting time between the stations

of boarding is 45 minutes?

DA X QOB . 5,00 foeredy 2.8 O5) R Bew HOROT o8y 120
&8y SHOE 200eNTOOH. & BeN WA Z K DHhdoar) & 08 DA
Y 50 TorE DIFDomO) )S00. @) AW S 1Hoireiien J30005
BEPON0DD TVSBO HHOHO 45 WTBB, D HHOTIE Ted DA Y
TERE0EN0A?

(1) o. 2.45 pm
(2) 0. 3.50 pm
(3) o). 4.15 pm

(4) 253. 5.20 pm

Options :
1. % 1
2.¥2
3. %3
4. % 4

Question Number : 72 Question Id : 3944843197 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

6, Dcho, @ode Hoien



Eight persons A.B.C.D.E.F.G and H are sitting m a straight line facing North but not
necessarily in the same order. F sits fifth to the right of A. D sits fifth to the right of E.
E sits to the immediate right of A. H <its towards the left of D. B sits third to the right

of G. G 1s an immediate neighbour of A. Which of the following 1s definitely true?

DA 0O SgSvew ABCDEFRG 00w H 2T ™ odss
S5 . @8 15005 505858860, SESnom S o) K. E S0
A BHO PGS FG0eS D ErH i, A & INToOHT (D8R
BDABHS E Erdimrydd. D B IADBIS Sortss ardosS H
SPEITIE. G B ABHS rSSTS0S B HrSH o). A %
SeNTOLT 105208 558 G. 2000 (B0 ¢3S DD JSBOTP O DB30?

(1) C 15 second to the lefi of D
D &0 2)Che3 19850 B0tsed arasoe o558 C

2) A 15 second to the right of H
H 50 508 3555 00 S8 A

(3) C is to the immediate right of B

B 55 SOTOET 0B (29856085 0588 C

(4) E is to the immediate left of C
C ) SNT0LD o)D) 198)c00) 58 E

Options :
1.v1
2. %2
3.% 3
4. % 4

Question Number : 73 Question Id : 3944843198 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

&6, HSocho, eHofe DSien



Let &x& =5x—7Tand Hp¥z*= % H P=%*7%*]15% then &P& =

&x& =5x-7 HOOW Bt = LN P=*T¥15% ©ONS &P& =

Options :
1.¥1
2. %2
3. %3
4. % 4

Question Number : 74 Question Id : 3944843199 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

8L, DHAcHo, so%e Hlden



Ifa*b=(a+b)+ (a—b) and aAb=(a+bh)’ —(a—b)then (3A5):(3%35)=

a®b=(a+b)+(a-b)’ HOGW aAb = (a+th)’ — (a—b) @OVSB (3A5): (3 *5)=

(1) 11:42
(2) 11:3

(3) 11 :

[ )

(4) 11:3

Options :
1. %1
2. %2
3.3
4, % 4

Question Number : 75 Question Id : 3944843200 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

8L, DHAcHo, so%e Hlden



For real numbers x, y, define two binary operations @ and & by
x@y=x2+y2+3xy—5

xOy=3x+4y+ 5bxy+ 6 then

(102) 62063) =

X, y 0003 YOELITL A3 HOBOheN G,0 o (od Do
DBV

x@ y=x*+y*+3xy—5

x O y=3x+ 4y + 5xy + 6 @)k

(12)0(2E3) =

(1) 2238

(1) 894

(3) 908

(4) 364
Options :
1. %1
2. %2
3.3
4. % 4

Mathematical Ability

Section Id : 39448447
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 75
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 394484326

Question Shuffling Allowed : Yes



Question Number : 76 Question Id : 3944843201 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e08ie3es arcneds

(37x37x37)+(8x8x18)
7X37 —296+64

The value of

(37x37x37)+(8x8x8)
37 X37 — 296+64

O30, e,

(1) 29

(2) 45
13
(B) =
11
=
Options :
1. %1
2.¥2

3. %3
4. % 4

Question Number : 77 Question Id : 3944843202 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e04K%e36s arsrBeeh



[3x 2%+ 2¥*2 4 2%+3] i always divisible by

[3x2% + 272 4 27431 35 DON W 27HoT dows

(1) 7
(2) 18
(3) 15

(4) 16

Options :
1. %1
2. %2
3.3
4, % 4

Question Number : 78 Question Id : 3944843203 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e051eded ara e

Ifx :y=3:4. then (2x+33) : By —2x) =

X:y=3:4 ©ONS, (2x+3y): By -20) =

(1)4 :1
(2)3 :1
(3)3 :2
(4)2 :1

Options :

1. # 1

2.¥2

3.%3



4. % 4

Question Number : 79 Question Id : 3944843204 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e20¥tiedes arondses

Three persons A. B and C invested their annual savings in a bank at 20% rate of
simple interest per annum. If each of them gets an equal amount after 10, 15 and 20

years, respectively. Then the ratio of their initial investments is

20% HEF 5O & 2.8 exsody & SnhSd S:dven A, B, C e 708 8P
JINTOD DD BTOO. BT 1D 2.8;8 SBdM 10, 15, 20
H05e8 38500 SBTdd 23 TR FodB, IVAET T LS
P20 DA )ed

(1) 20 : 15 : 12

(2) 16112

o |

{3125 223 ;19

(4)12 :15 : 19

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 80 Question Id : 3944843205 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e00¥iedes aradses



g e

If x=Y21. y=13/23. then which of the following is correct?

=321, y=V23 s, & (808 735 OO Hehrain?

(Dy=x+1
(2)x=y+1
()XY
@)y >x

Options :

1. %1

2. %2

3.¢¥3

4. % 4

Question Number : 81 Question Id : 3944843206 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e20¥tiedes arondses

The positive square root of 14 + 6v15 is

14+6V15 @BwEs Ad H8shrersdin

(1) 3+4/5
(2) 3-4/5
(3) 3+24/5

(4) 3-2vV5

Note: For this question, discrepancy 1s found in
question/answer. So,this question 1s 1gnored for all
candidates.

Options :
1.1



2.2
3.3
4.4

Question Number : 82 Question Id : 3944843207 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
04536 araaSeeh

The remainder when 3*° is divided by 6 is

—

345 35 6 D 2rHODNDI STy B0

Td

(1) 4
(2) 3
(3) 5
(4) 2

Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 83 Question Id : 3944843208 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e005edes araPsed



The number of positive divisors of n = 311°x 373%x 307% is
n = 311%x 373*x307* G3wE; O erese Hows
(1) 60
(2) 58
(3) 65

(4) 68

Options :
1.v1
2. %2
3.%3
4. % 4

Question Number : 84 Question Id : 3944843209 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetieal Ability
e00%iedes aradses

The GCD of 3240, 3600 and x is 36 and the LCM of these three numbers is
24 x35x52x 72 then6x =
3240, 3600 DB x G30E) H.007.27. 36 NG a¢3 E.7r.00.

2% x35x52x 72 e@owns, V6x =

(1) 526
(2) 625
(3) 726
(4) 756

Options :
1. %1



2.%2
3. %3
4.9 4

Question Number : 85 Question Id : 3944843210 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e20¥tiedes arondses

Three bicycles are fitted with wheels that can make 6. 5 and 10 revolutions per minute
respectively. One spoke on each wheel is painted blue. All three bicycles start
moving at the same time. and the spoke of the wheels painted blue is in the same
position for all 3 bicycles. After how much time. will all the three wheels be aligned

in the same manner as they were at the starting? ( in seconds)

ST ZWOFN  Aar8 6. 5 JDEON 10 [eDETED Tl  ore38
Hs0 Do, (DB HFoSD 2.8 th55% ADEHS edero
20008, dOB0HS @S HTFd PSR dsen 2.8 o
o) e )08 oNFCH THSPeD EANENSTION. D0 DeNOVO ST ed
S¢S &8 DO, JNAENT €550 Goeron? {%é@fﬁa}

(1) 60
(2) 30
(3) 12

(4) 120

Options :
1.¥1
2. %2
3.%3
4. % 4



Question Number : 86 Question Id : 3944843211 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e005edes araPsed

= 20
- . . g | 1 :
The number of rational numbers in the expansion of (v L ""‘1_) is
ki

20 5 - o G
(i-zs + 4,11_0) 0B ewdBe3ch Nowie dows
v

(3) 4

(4) 6

Options :
1.¥ 1
2. %2
3. %3
4. % 4

Question Number : 87 Question Id : 3944843212 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e04K%e36s arsBeeh



The rational number that represents the recurring decimal number 0.234 is

DRTRyeh S70F Do 0.23F & ArDoD eideich dows

232

(Lyrr

9990

232

(2) 550

990

232

(3) oo

Q00

232

) -

Options :
1. %1
2.¥2
3.%3
4, % 4

Question Number : 88 Question Id : 3944843213 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e051eded ara e



Six persons A. B, C. D. E and F are of different heights. No two among them. are

of same height. It is also known that

e300 9580en A, B. C. D, E. F DS deven {7, 78S o
2O 2.8 o DA SH. o854

i) A is taller than B but shorter than C
A, B 57 608 . € Sy Soddimed sy o

i) D is taller than E who is in turn is taller than F

F 35y PGB8 E. E&cd) &0 D

iii) F is taller than A

A 8oy PO F

Who is the shortest?

o3 BoSSr Sy o7

(4)D

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 89 Question Id : 3944843214 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e00¥iedes aradses



If the following fractions are arranged in descending order (of their magnitudes). the

middle one is

Bo® Daryen @38 £006S (@¢3 H8S70) @818

s0csey a5y 50

7
m 3
5
g Z
@ 2
9
'3. ==
& 3
2
4 5
Options :
1. % ]
2. %2
3.3
4. % 4

Question Number : 90 Question Id : 3944843215 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e20¥tiedes arondses



In a school 75% are girls. and the boys are 625 in number. The total student

strength in the school is

28 FETersy 75% erOEen B0 2rend 625 SH0d ). ©oNs,
e3 SrdFered Bwdo Jorsdher Hows

(1) 3500
(2) 3000
(3) 2750

(4) 2500

Options :
1. %1
2. %2
3.%3
4. v 4

Question Number : 91 Question Id : 3944843216 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e00¥iedes aradses



In a ready made cloth stores a customer has got 10% discount on his dress. but has
paid 2.5 % CGST and 2.5% SGST on the discounted rate. Had he got Rs.200 as
discount and then paid the said taxes. he would have paid Rs.42 more. The price (in

Rupees) of the dress before the discount is

2,8 BADE SQ 050 2.8 DB S BoderD 10% oS 28
180 §ooffen ToDmr e90hBd el 500 HER 2.5% CGST A%
2.5% SGST WOowrd. @ehdd S 08m 357200 &Pod. e Hdjew
Do) HOT). 29680 QOT EFr42 DBV BOoO ) ST 0. ShodHB
S0 & B &S (Eraraned)

(1) 2400
(2) 2800
(3) 3200

(4) 3600
Options :
1.v1
2.% 2
3.%3
4. % 4

Question Number : 92 Question Id : 3944843217 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e051eded ara e



A dealer sells items at a 20% profit. If the cost of items doubles and the profit percent

becomes half its present value. then the actual profit now is what percent of the

previous profit?

2.8 BB SN 20% eTeTRE edimErd.  Hede B8 BEod
0N EFHFGHO |HWS ey SIS, eden erdo (8o erzsocs

oJOES FoehO ?

(1) 25
(2) 50
(3) 100

(4) 200

Options :
1. %]
2. %2
3.3
4. % 4

Question Number : 93 Question Id : 3944843218 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e20¥tiedes arondses



An item 1s sold at a profit of 30% to its cost price. Had the profit been 30% of the

present selling price. the vendor would have gamned Es.540 more. What is the present

selling price? (In rupees)

2,8 SMWHd IO B0t 30% rS0E @s0DB08.  (DNBHO
@OaNIROEY 30% €SN oORGOT), ortarS8 & 540 e DB9)H

725650 5D JEGOTE. NS, [DiW OB D0eh (SFaronereS)?

(1) 5400
(2) 6000
(3) 7800
(4) 9100

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 94 Question Id : 3944843219 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e00¥iedes aradses



A and B started a business with B’s investment 2.5 times that of A. Ratio of time
period of the investment of A and B was 3 : 1 and the total investment made by both
of them was Rs.28000. If the annual profit earned was Rs. 2500 less than A's

investment, the difference between their annual profit is (in rupees)

A B0 B e 2.8 s7arTR)) A SHFOGTTRR 2.5 88 Arerddddnd B
ERE DE |rE0D 0T K. A DHECIN B © P2 T HEA®
DA 3 1 1 1 HOA 2BB EN Bwddn eYG EF. 28000 T
E50TB00. D03eh 550 e7725:5m, A B3nE), PG 0Ty &F. 2500 55005
00N, 78 H0S5BIS eressne 235 (Sraronerds)

(1) 400
(2) 500
(3) 650

(4) 800

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 95 Question Id : 3944843220 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e05ieded araGees



Three persons A, B, C start a business with capitals Rs.8 lakhs. Rs.10 lakhs and Rs.12
lakhs. After 6 months C has taken back Rs.4 lakhs from the capital and after another
2 months B withdraws an amount of Rs.2 lakhs from the capital. Then A’s share in

a profit of Rs.574000. at the end of the year, in Rupees

A0thH&y Ssdven AL B. ¢ &r8 ofewn. &7.10 ofen. 8712 oo
5 G0 IS0 M. 6 ee) edared € G4 ©F e HreddHddo od
GON0TFBohEHTIGR.  HE 2 Boe SSHaed B 8r2 ofew
SPGB Dod GHJ0T8othIE . @an®, HodBIE0

DSBS B3.574000 e3725065° A TwEy, e (Sraroneed)

(1) 287000
2) 240000
(3) 168000

(4) 144000

Options :
1. %1
2. %2
3.3
4, % 4

Question Number : 96 Question Id : 3944843221 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e051eded ara e



An overhead tank is connected by 3 pumps A. B and C. The pumps A and B can fill
the tank in 4 hours and 5 hours respectively. where as C can empty the Tank in 2
hours. If A. B and C are opened in order at 5.00 am: 6.00 am and 7.00 am when will

the tank be empty?

2.8 DIGESY €rzo§, A, B N80 € @3 SHrth Frod
00RO G0A. A NS0 B FETew 2,8 637508 A 650 4 fodren
S8 5 Kotreds Dodierdd. eans e ér:08 & C. 2 fotrerd gy
TAHKED. A, B 0BG € 365 ST 65.5.00. € 6.00 OG5 €5 7. 00
©%) BER 77505 )¢ 879 95800867

(1) 7. 6 pm
(). 7 pm
(3)or. 8 pm

(4) . 9 pm

Options :
1. % 1
2. %2
3. %3
4. v 4

Question Number : 97 Question Id : 3944843222 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e051eded ara e



Two pipes A and B can fill a cistern in 12 minutes and 18 minutes respectively. Both

are kept open for 2 minutes and A is closed. In how many minutes will the tank be

full?

BOCD 0 A sHEON B 0 2,8 & TN T 12 Mabaren «NOasw 18
DTS DodHEed. Bodh FErercd 2 AapaTen BSOS Sorieh A
FPE) SHrRiRcHGdE. Q) AeTresS & Jodhtercd?

(1) 20

(2) 16
(3) 15

(4) 12

Options :
1. % 1
2. %2
3.¢¥3
4. % 4

Question Number : 98 Question Id : 3944843223 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e05ieded araGees



A train travelling at 90 kmph takes 20 seconds to cross a platform of length 150m.

The length of the train in meters 1s

2,8 Dex 50ex%0 90 8.0, [KSNS 150 m. a9 Ko IOHED emerdy 20
E0en D0, onS, Bew By ) avesde

(1) 275
(2) 300
(3) 325

(4) 350

Options :
1. % ]
2.% 2
3.%3
4.v 4

Question Number : 99 Question Id : 3944843224 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e20¥tiedes arondses



A car covers a given distance moving at a speed of 35 kmph. However. if it were to
halt for a fixed number of minutes every hour, its average speed would work out to
28 kmph. For how many minutes does the car stop per how?

Koo 35 8.0 Jdod 2.8 2% DS Sromdy JréTchderd. (He

F0er%0 £ D8es AsTen esfiesr 00T o) Hfen SHo foeady
28 §.20 @959e5008. (063 Foerdd €3 5250 DR AaTeD 30 d.?

(1) 12 minutes (1) 12 cJaddaren
(2) 7 minutes (2) 7 Qdaddarew
(3) 14 minutes (3) 14 d2varen

(4) Indeterminate @ BOSTEY

Options :
1.v1
2. %2
3.%3
4. % 4

Question Number : 100 Question Id : 3944843225 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetieal Ability
e00%iedes aradses



Three Engineers or four Technicians can complete a project in 43 days. How many
days will it take for seven Engineers and five Technicians to complete the same
project?

SnHE 202305 e B denthdd B8 N0HS 2.8 TET b 43 TereresS
I8 TAHEDO®.  aNSd DHS ROBIT e HBA BHE
B8 20D ew @8 (TS 0 A Ferered Hrd TahRerEy?

(1) 10
2) 12
(3) 13

(4) 15

Options :
1. % ]
2.¥2
3.%3
4. % 4

Question Number : 101 Question Id : 3944843226 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e00¥iedes aradses



A and B can complete a piece of work independently in 12 and 16 days respectively.
Both of them start the work and after 4 days B leaves. In how many days. will A

complete the work?

A OB B en NI af ermdy Hisolborr ST 12 Faren
805 16 Ferered Hrd TAHEOS). 2B HA Vnden DEIS 4 Fezre
ST e B 5257500 ) Ferod A & HA Hr8 Tahiierd?

(1) 9
Q) 7
(3) 5

(4) 4

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 102 Question Id : 3944843227 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e00¥iedes aradses



A cuboid has dimensions /, b and h. If all its dimensions are increased by 10%. then

the percentage increase in total surface area is

2,8 B 05550 WnEy Ferében Lb DB h 70 W) Serédercdy 10%

0B, S0 e BT30S DSDG Fehodn

(1) 20%
(2) 15%
(3) 21%

(4) 10%

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 103 Question Id : 3944843228 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetieal Ability
e00%iedes aradses



A rectangular field has its length and breadth in the ratio 5 : 4. A man riding on a

bicycle completes one lap of the field along its perimeter at a speed of 10.8 kmph in

4 minutes and 36 seconds. The area of that field (in sq. meters) is

28 B SSEErTE TS0 S SO0 Dbenen § : 4 AHBS
4035y, 28558 DES D H0er%d 10.8 8.2 BESWE 4 Aared 36 DED
e S50 2.8 0y 8 TR @8 T (53 My BT Led (0 .F)

(1) 40640
(2) 41820
(3) 42670

(4) 42320

Options :
1. % 1
2. %2
3. %3
4. ¢ 4

Question Number : 104 Question Id : 3944843229 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e05ieded araGees



What is the radius of a spherical ball which is formed by melting a metallic cylinder
of base diameter 8 inches and height 160 inches. if conversion wastage results in

10% of weight loss? (in inches)

S57y ¥8R0tich0eY” eodoiadder 10% T GOT). 8 LoMTTeD T HOTT.
160 @0MH TN DT (o 2.8 sy AFardy $8Aod 2.8 figo r sHdR

&3 Ao aeerSo (00MHeereS) Does?

(1) 9
(2) 12
(3) 15

(4) 8

Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 105 Question Id : 3944843230 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e00¥iedes aradses



A pyramid 6 mts high has a square base. Length of diagonal of the base is V98 mits.

Its volume is (in cu mts.)

62. Jetae> 2.8 DEDE 257 SIS TS0S HoB. T €80 Y

VOB . @0nS. I SHBSTH0 (0 .. &)

(1) 109
2) 100
(3) 84

(4) 98

Options :
1. % 1
2. %2
3. %3
4. ¢ 4

Question Number : 106 Question Id : 3944843231 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetieal Ability
e00%iedes aradses



A rectangular park is of dimensions 80m x 60m. The two walking paths 10m wide
are to be constructed in the middle of the park parallel to its length and breadth. If
the cost of construction of the path is Rs.300 per sq.m. Then the total cost (in lakhs)
is

2.8 O BAdRrsd ardoy Sexdden 80aD X 60 0. &P, Dcven ey
HAFOSSOM By 0GS 10 . DA 3%E T8 D80Ty

GO8. DU ES0N0 B.ob 2850638 Er 300 TS D) o0,
B0B0 DT*e55090 (08 © SFaraneres)

(1) 4.5
(2) 4.1
(3) 4.0

4) 3.9

Options :
1. % ]
2. %2
3.%3
4.v 4

Question Number : 107 Question Id : 3944843232 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e20¥tiedes arondses



A vessel 1s in the form of a cylinder surmounted by a hemisphere. If the diameter of
sphere is same as diameter 14 cm of the cylinder and if height of the cylinder is 7

cm, then the volume of the vessel (in em?) is

2,8 3r|sd @A AFHo 2.8 edfeR) SVoDIENILH. e fgo arsdo.
AFN0 7200 DTSR 90 14 DO.2D. s ATN0 % 7 0.2
OO0 ICR €8 €5 S0INBNTE0 (RO. 1.2

(1) 1?993

(2) 171[15

(3) 1715

w A

(4) 1718 %

Options :
1. % 1
2. %2
3.¢¥3
4. % 4

Question Number : 108 Question Id : 3944843233 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e00¥iedes aradses



From a rectangular sheet of paper of dimension 30cm x 20cm. squares of equal side
3 cm is cut out from each corner, and the remaining parts are folded on 4 sides to

form open rectangular box. Then the volume of the box (in cm?) is

30 0. 30 . 200 B Fordden fe 2.8 HY s RrseE) TR0 08y
By TED DO 008 3 DO, D 20O e eSS |Rre ) §3800)
MADD sAGS0D Ten Sreer HAED S 6D wom a8 HY
SSE) BRI ST TR0, 95t & 2T H0sdHBETEI D

(0. Dy e

(1) 1008
(2) 1377
(3) 1134
(4) 564

Options :
1.¥1
2. %2
3. %3
4. % 4

Question Number : 109 Question Id : 3944843234 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e00¥iedes aradses



If 3°® = r(mod5) and0 =r <4, thenr=

358 = r(mod5) SOOI <1 <4 oW, r=

Options :
1. % 1
2. %2
3. %3
4.v 4

Question Number : 110 Question Id : 3944843235 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e051eded ara e

The solution set for the inequation | x— 1]+ [|x+2[<2 1is

lx—1]l+1x+21<2 GB0E) S daved

(1) (=o0,=2) U (L. )
(2) [2,1)

(3) (-1.2)

(4) An empty set

Options :
1. %1



2. %2

3.%3

4. v 4

Sub-Section Number : 2
Sub-Section Id : 394484327
Question Shuffling Allowed : Yes

Question Number : 111 Question Id : 3944843236 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, 2ol i zes

What is the contrapositive of the following statement?
‘If two triangles are congruent. then they are similar’

DO 18320272 DY LT, @) AT’ & |

DEY?

I E{{
£
]
]
a

7
29
i R
B

LD
(B
O

(1) If two triangles are not congruent then they are not similar.

B [8380r27en HE 5 DTrS0 57 @) HEFEre 5% .
(2) If two triangles are not similar then they are not congruent.

Bodh [B2hezmen HETEren 5N @908 HE 5 DATRTED 57
(3) If two triangles are similar then they are congruent.

Boc [S25re37en HETETIBGS’ €0d) HE 5 DT .
(4) If two triangles are not similar then they are congruent.

3o [Szhezren HETere 57 @98 HE S HTIrew.

Options :
1. %1
2.2
3.%3
4, % 4

Question Number : 112 Question Id : 3944843237 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Algebraic and Geometrical Ability
DA, 2rsnedad e

When is the statement (~p) Aq is true ?

(DO (PIA G s Dedgae)eB0d 7

(1) pis false, q is true P @068 E0, g 0550 @0 aIa))]) 080
(2) p is false. q is false P, q €0 Boch 290650 e8¢0

(3) p is true. q is false D D50, q 00 NS IEH

(4) p is true. q is true P, q €0 Do He5:0 005 )cH

Options :
1.v1
2. %2
3. %3
4. % 4

Question Number : 113 Question Id : 3944843238 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DA, 2rsnedad e



In a group of athletes in a school. 21 are on basket ball team. 26 are on hockey team
and 29 are on foot ball team. If 14 play hockey and basket ball. 12 play foot ball and
basket ball. 15 play hockey and foot ball and 8 play all the three. how many play only

foot ball?

2.8 FETOS i fesdher HToS 21 Hod L oS
BERS 26 D0 8 BEPST HOAW 29 OO HE &S BEPSH
) 0. 14 000 8 DB &8 ard escherd. 12 H0d HE
27® HOAW 2 oS esdierd, 15 HoS FE HBA HB ard
e3¢0, SO 8 OB TG0 BGSS, HE 27O K Sr|ehad
&3 B0 EN?

(1) 10
(2) 9
(3) 8
(4) 6

Options :
1.v1
2. %2
3.%3
4. % 4

Question Number : 114 Question Id : 3944843239 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DA, 2 0ach e



If the function given by f{x) = x+2 with domain { x ; 2 <x <5}, then the intervals
of domain and range of f~! are respectively

fX)=x+2 T 0523 00000 (DBH0 {x :2<x <5} oS, 1 TR,

(DBH0 DB arza)e @oddTren ST

(1) (47,25
@) [4.7].[2.5]
(3) [4.7),[2,5)

4 (4712, 5]

Options :
1. %1
2.¥2
3.% 3
4. % 4

Question Number : 115 Question Id : 3944843240 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, 2 20eoh arend) zeb



If A={1.2, 3} and R is the relation given by

R={(1. 1), (2. 2). (3. 3). (1, 2). (2. 1)}. then

A=1{1,2.3 HEAN R &®F SODOT)

R={(L1).(2.2).(3.3). (1. 2). (2. 1)} 1" QA €9

(1) R is only reflexive R @O HTH080 H7°(edad
(2) R is an equivalence relation R éhyede Hooddo
(3) R is only symmetric R 030 RS0 Sr($sH

(4) R 1s not transitive R eSS 501550890 5%

Options :
1. % 1
2.9
3. %3
4. % 4

Question Number : 116 Question Id : 3944843241 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DA, 2 00H Tz



If A=(2.3)and B = (4. 5) then slope of line AB is
A=(2.3) 08350 B=(4, 5) @003, AB O 30E; oTe0
(1) =
(2) 1
(3) -1
(4) 2

Options :
1. %1
2.¥2
3. %3
4. % 4

Question Number : 117 Question Id : 3944843242 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, esnedod ardudsed

Equation of line which is parallel to 2x + 3y =4 1s

2% + 3y = 4 50 DAT 0SS0 SOT Dar HabESe0

(1) 2x+3y+c=20
(2) 3x+2y+c=10

(3)3x+ 2y = —4

% ¥ 1
Wets =3
Options :

1.v¥ 1

2. %2

3. %3

4. % 4



Question Number : 118 Question Id : 3944843243 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, 2rs2nsah ardnd)zeb

. . cosecB+coth
If 13sinf = 12 and @ is acute then =
tanB+sect
) cosec8+cotd
13 sinf = 12 0850 8 @185 @onss, =
tanf +secé

(1) 3

@) =

10

32

Ok

Options :
1. %1
2.9 2
3.% 3
4. % 4

Question Number : 119 Question Id : 3944843244 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
D8od, 2 uedalh ardsed



1+cos6

1-cos@ T
(1) cosecH — cotf
(2) cosecf + cotf

(3) cosec

(4) cotd

Options :
1. % ]
2.¥2
3.%3
4. % 4

Question Number : 120 Question Id : 3944843245 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, esnedod ardudsed

Sin A+SinB=

Options :
1. % 1
2.¥2
3. %3
4. % 4



Question Number : 121 Question Id : 3944843246 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, 2ol i zes

Two boys A and B are opposite side of a tower of height 150mts. They measure the

angle of elevation of top of the tower as 30° and 60°. Then the distance between the

boys (in mts)

15000, )08 2,8 Q020 BB DB T Ecd) VRS 2rendd
A.B e» @ Qodso e ¢ Seamen 30°% 60° e §OD8. edHchy e arend sodds

Ar80 (Do.0363)

600

(1) —=

NE)

430
@ =

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 122 Question Id : 3944843247 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
D8od, 2 uedalh ardsed



Iffix)=x*+6x+ K, and g (x) =x% + 5x + K, have a common factor x — q,

then a =
x—a @O0 fx)=x2+6x+ K, 0O g =x +5x+ K, ©F0 5025

sderrogdn wons, a =

(1) Ko —K;
(2) Ki + K>

E;+K,

(3) =

(4) 2(K;+K3)

Options :
1.¥ 1
2. %2
3. %3
4. % 4

Question Number : 123 Question Id : 3944843248 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, arsiueoh ardndzeb

The number of solutions of the equation

DaNEGEI0 TN R oS

JxZ—x+1+ =2—x°

NEE—x+1

(1) 1

| ]

(2)
(3) 3

(4) 4



Options :
1.¥ 1
2. %2
3. %3
4. % 4

Question Number : 124 Question Id : 3944843249 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, arsiueoh ardndzeb

The remainder when 21872 ig divided by 17 is
21875 50 17 & 2B 5T ) Fedddnd
(1) 14
(2) 16
(3) 13
(4) 15

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 125 Question Id : 3944843250 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, esnedod ardudsed



If x2 4 6x —k = 0 has distinct real roots. then k lies in the interval

X2 4 6x —k =0 %0 DDA R Trerenow), k ol oS0

1) (2,9
2)  (-=,9]
3) [10.%2)
4 (10.0)

Note: For this question, discrepancy 1s found in
question/answer. So,this question 1s 1gnored for all

candidates.
Options :

1.1

2.2

3.3

4.4

Question Number : 126 Question Id : 3944843251 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, esnedod ardudsed



a5 a5 .
If 2L =2 agnd 22X = 22 then(x, )=
x+y 12 ¥y 2 £

2 _E 8050 X = L oons, (xy)=
xty 12 y—x 2

4) (7. 5)

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 127 Question Id : 3944843252 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, 2ol i zes



The sum of a two digit number »# and the number formed by reversing its digits is 99.
When 5 is added to » then it becomes 5 less than 6 times the sum of digits of n. Then

the number »n 1s

B0Go3e SO N . ) @03 BFderd DOV ST Howied
SNEB0 99, N1 B 560 ZeNIT SIS TR @o3e Jndo Ay 6 B

E3) 5 580369, €9c))CR) €8 oS Nl

(1) 63
(2) 54
(3) 45

(4) 36

Note: For this question, discrepancy is found in
question/answer. So,this question 1s 1gnored for all

candidates.
Options :

1.1

2.2

3.3

4.4

Question Number : 128 Question Id : 3944843253 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, 2ol i zes



A machine costs Rs.875000. If the value of the machine depreciates 15% of its cost
. 1 . . . . .
in the first year, 13 S of its cost in the second year, 12% of its cost in the third year

and so on. then its value at the end of 10 years is (in rupees)

2,8 0050 B &5 875000. FSE3 H0S 180 &8 aoho B8 15%
SSDS, BOh HOHSIBBD TR HES 132 % SSoihide, S
HOSSIB30 TR BB 12%  SHHde  Goty eddor 10
506565 355508 B0aTeh €8 GO0 Dewsd (Brarched)

(1) 224650
(2) 182420
(3) 153125
(4) 135225

Options :
1. % 1
2. %2
3.¥3
4. % 4

Question Number : 129 Question Id : 3944843254 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DA, 2rsnedad e



If AM and GM of the two numbers are 34 and 16 respectively. the numbers are

DO oW @08 NOHN0 NG MDA NED HBHT 34

BTN 16 WONS €8 HOWEEN

(1) 1.67

. 06

| ]

(2)
(3) 3.65
(4) 4. 64

Options :

1. % 1

2. %2

3.%3
4.9 4

Question Number : 130 Question Id : 3944843255 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DA, 2 0ach e

If the 21% and 22° terms in the expansion of (1 + x)** are equal. then x =
(1 + 1)** DASES 21685 DB 22 85 HTTEN DTSN OV, x =
7
=
(2) 7
(3) 8

(4) 1

Options :
1.v1



2. %2
3. %3
4. % 4

Question Number : 131 Question Id : 3944843256 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Algebraic and Geometrical Ability

D8od, 2 uedalh ardsed
If (l+x+x5)"=¥22 a.x".thena,+ a, + a, + ... =

(1+x+x2)" =32 qa.x" ©OND, ag + a; + a5 + .. =

(1) 3" +1
2)3"—1

atey
2

(3)

AL |
2

)

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 132 Question Id : 3944843257 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, arsiueoh ardndzeb



5x

If H - ‘ = — 6. then the values of x are
|1’ 5x

1 =x

= —6 @O, x B0 Devsden

(s 4.2
@ —3,—2
(3) 3,-2

(4) e

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 133 Question Id : 3944843258 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, arsiueoh ardndzeb



140 w* —w

If @ is cube root of unity. then |1 4+ w?® w —@?| =
wtw w —w

2,863 T30} 3T m OO,

140 w? —w
1+w? w —w?| =
W LAl £ =i
(1) —3w
(2) 3w
(3) Jw?
(4y —3w?
Options :
1. %1
2. % 2
3.% 3
4.9 4

Question Number : 134 Question Id : 3944843259 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, esnedod ardudsed



3 X
lim —— =
x—=0 VI1+x — 1—x

(1) 0
(

| ]
oy
[N

(3) 1

(4) 2

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 135 Question Id : 3944843260 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, arsiueoh ardndzeb

L fanzx — x
lim ——-=

rv—0 3x —sinx

Options :
1. % ]



2. %2
3.¢3
4. % 4

Question Number : 136 Question Id : 3944843261 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
D8od, 2 uedalh ardsed

In the figure LA = 60°, BD 1L AC, and the area of AADC = %E .

Then BC =

2535 2D IS D3NS’ LA =60, BD LAC SHTN
ErEl

2

AADC JF° 550 = ©@OonS BC=

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 137 Question Id : 3944843262 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, 2ol i zes



In a parallelogram ABCD. the length of the adjacent sides AB and BC are 14 cm and

12 cm. If the diagonal AC = 22cm. then its area (in sq.cm.) is

HAT0SE theidynessine’ ey eheren AB sH8C5 BC © £rchdden 14
0. 2. . 08 12 0. . . $s0 =22 0. a. 90N, TR BT L0
(0. WP oS

(1) 24410

(2) 324/10

(3) 48+/5
(4) 4810
Options :
1. % 1
2. % 2D
3.% 3
4.9 4

Question Number : 138 Question Id : 3944843263 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, 2 20eoh arend) zeb



i E o 2 i ;
One of the angles of a triangle is = of the sum of the adjacent angles of a parallelogram.

The remaining angles of the triangle are in the ratio of 5 : 7. The value of the second

largest angle of the triangle is

2,8 8202w @y Sarersd 28 Faadw, 2.8 Hdroshd He5od)z3em
Gw¥y @dd) Faro IS S Sod.  (SBabadn gy
ifETearen 5: 7 AASS oD @ |Behssw By Bocks HeR

&0 Dewd

(1) 45°
(2) 63°
(3) 67°
(4) 85°
Options :
1. % 1
2.¥2

3. %3
4. % 4

Question Number : 139 Question Id : 3944843264 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DA, 2 00H Tz



If (3.-6). (5. 7)and (13. 4) are the mid points of the sides BC. CA and AB of triangle

ABC and if the centroid of the triangle is (a, b). thena + b=
(3.-6). (5. 7) SDBCAW (13. 4) en 2,8 (3202350 ABC G3wE) 2heren BC. CA
SB35 AB® o085 Dodhsden. e [SB2hesssn O Boldddn (a.b)

onS a+b =

4) 5

Options :
1. % 1
2.¥2
3. %3
4. % 4

Question Number : 140 Question Id : 3944843265 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, 2ol i zes



If (17. 16), (14. 16) and (17. 20) are the vertices of a triangle. then the its circum
centre is
2,8 |S3edm BTN (17. 16). (14. 16) HBAW (17. 20) 0NS, T HO

ElellaNWN

(210

2) (17,18)

o (@.1)

(4) (17,16)

Options :

1. %1

2. %2

3.3

4. % 4

Sub-Section Number : 3
Sub-Section Id : 394484328
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 3944843266 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Staristical Ability
Ao ST A sed



If the arithmetic mean of the first ‘n’ natural numbers is 8. thenn =
S300¢5¢3 1 daTes Domeedr G308y @08 50630 8 e9oes, n =
(1) 9
(2) 15
(3) 13

(4) 11

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 142 Question Id : 3944843267 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Abilicy
o iE o aranQ e

The average of cubes of first ten natural numbers is
S06E3 HE DT DOWES DT D
(1) 301
(2) 302.5
(3) 300
(4) 300.5
Options :

1%
2.¥2



3.%3
4. % 4

Question Number : 143 Question Id : 3944843268 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability
rroms i o i ses

If the median of the following distribution is 9.89. then the mode of the distribution
18

&3 (B0A Derzsadsdn B3ng) s 9.89 oS, &8 Dzrrascdiadn G,

2T E 50

Class interval 0-10 | 10-20 | 20-30 | 30-40 | 40-50
55Ned @00
Frequency 45 20 14 7 3
B0 Ead)ed §aadd

(1) 1.47
(2) 1.68
(3) 1.84

(4) 1.92

Options :
1.¥ 1
2. %2
3. %3
4. % 4

Question Number : 144 Question Id : 3944843269 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Staristical Ability
Ao ST A sed



The variance of the weights of the ten persons whose weights (in kgs) are

45,49, 55, 50, 41. 44, 60. 58, 53, 55 is
HEY OB H58vey 2adusyen (§.L_ri°.c§" ) 45. 49, 55. 50, 41, 44, 60, 58. 53. 55

G308 DyHed

(1) 34.3
(2) 35.6
(3) 36.4

(4) 36.7

Options :
1. %1
2.¥2
3. %3
4. % 4

Question Number : 145 Question Id : 3944843270 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Abilicy
o o e ses



A data consists of 100 observations X, X, ... , Xi00. If Dieg(3%; + 17)% = 22500
and 107 (3x, + 17) = 900. then the standard deviation of x;,X,, .., Xy 13

2.8 ST 0H%0 100 HOFONEN X1, Xz, -, X100 0 &6 &0,

1003y, + 17)% = 22500 0BG T2 (3x, + 17) = 900 €90a

=1

X1, Xgy s Xypp G008 503 205050

(1) 10
(2) 8
(3) 4
(4) 5
Options :
1. % 1
2. %2
3.¢¥3
4. % 4

Question Number : 146 Question Id : 3944843271 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Staristical Ability
Ao ST A sed



Which of the following two variables likely to have maximum positive correlation

coefficients?
& 1Bod 2l500S Bodkd HoTHos I K8 &S HFrH008
s 00 Sotnod?

.1} x =the annual salary
L {y = the annual savings
x = Q8 B0
= 08 srcuden

X = Air fares
(2) {y = Air passengers

{;; = DTS Then
= DAT HOrESgoen

fﬂj % = The cost of health care
(3 {y = the number of patients

x = es07if DOBS e WA
= Brhe Hog:

( 4} x = Cost of railway platform ticket
{}; = Passengers on the railway platform

{yx = D85 o rar0 6336 )
= D83 TOF0D DHATreIEen

Options :
1.¥1
2. %2
3. %3
4. % 4

Question Number : 147 Question Id : 3944843272 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Abilicy
o o e ses



Three unbaised coins are tossed. The probability of getting exactly one Head is
A7) Aer)8 & rEgsinedd N DI D o 2,8 5 HE

KJ(JBJ“oﬁgefb

— — i
L | B ]
e ealiv ot
Wl e W= m e

=
P

Options :
1. % 1
2. %2
3. %3
4.v 4

Question Number : 148 Question Id : 3944843273 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Staristical Ability
Ao ST A sed



If a fair die is thrown 3 times. the probability that the sum of the numbers turned up
14 is

2.8 Qar )8 & D8 308 88 e Sngred 3 Howmie Fne
e00: 0TS sch

o) 14

b3

(1) =

216

(2) —

108
(3) E

@) o

Options :
1. % 1
2. %2
3. %3
4. v 4

Question Number : 149 Question Id : 3944843274 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Abilicy
o o e ses

If A. B and C are any three events in a sample space S then P (AUBUC) =
F0HO @580 S 5 A, B HBG C o0 DR orrchd s0eadien eons
P (AUBUC)=

(1) P(A) + P(B) - P(ANB) - P(ANBNC)

(2) P(A) + P(B) + P(C) — P(ANB) - P(BNC) - P(ANC) ~ P(ANBNC)
(3) P(A) + P(B) + P(C) + P(ANBNC)

(4) P(A) + P(B) + P(C) - P(ANB) - P(BNC) - P(ANC)

Options :



1. %1
2.¥2
3.%3
4, % 4

Question Number : 150 Question Id : 3944843275 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability
o o e ses

If A and B are two mutually exclusive events of a sample space S such that AUB =S

and P(B) = 2P(A), then P(A) =

AUB = § O8G0 P(B) = 2P(A) @0H5EE) F*0NO e3:58dm S & A

Wl

SB35 B e B0k HBGIS 8868 Htaddien eons, P(A) =

2
(-
1
.5 e
(2 3
1
¢ 3 Wi
33
1
(4) -
Options :
1. % 1
2.9 2
3. %3
4. % 4
Communication Ability
Section Id : 30448448
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 38
Number of Questions to be attempted : 38
Section Marks : 50
Mark As Answered Required? : Yes

Sub-Section Number : 1



Sub-Section Id : 394484329
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 3944843276 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Opportune

(1) Musical
(2) Tumely
(3) Fortune
(4) Ability

Options :
1. % ]
2.¥2
3. %3
4. % 4

Question Number : 152 Question Id : 3944843277 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Laconic

(1) Verbose
(2) Loquacious
(3) Talkative
(4) Concise

Options :
1. % 1
2. %2
3.%3
4.9 4

Question Number : 153 Question Id : 3944843278 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Impeccable

(1) Faulty
(2) Irritating
(3) Improved
(4) Faultless

Options :

1. %1

2. %2

3.%3

4.9 4

Question Number : 154 Question Id : 3944843279 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Nonpareil

(1) Unrivalled
(2) Mediocre
(3) Ordinary
(4) Amateurish

Options :
1.¥ 1
2. %2
3. %3
4. % 4

Question Number : 155 Question Id : 3944843280 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



FEbullient

(1) Enthusiastic
(2) Dull
(3) Melancholic
(4) Indolent
Options :
1.¥ 1
2. %2
3. %3
4, % 4

Question Number : 156 Question Id : 3944843281 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Inveigh

(1) Weigh
(2) Carry
(3) Denounce
(4) Break

Options :

1. % 1

2. %2

3.3

4. % 4

Sub-Section Number : 2
Sub-Section Id : 394484330
Question Shuffling Allowed : Yes

Question Number : 157 Question Id : 3944843282 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



The chosen for construction of the office is in the heart of the city

(1) Site
(2) Sight
(3) Cite
(4) Shight

Options :

1.¥1

2. %2

3.%3

4. % 4

Question Number : 158 Question Id : 3944843283 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

A student who absents himself without permission is a

(1) Sceptic
(2) Tyrant
(3) Indiscipline
(4) Truant
Options :
1. % ]
2.% 2
3. %3
4.v 4

Question Number : 159 Question Id : 3944843284 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

The crowds greeted the winning team outside the stadium.

(1) Hesitant

(2) Despairing

{(3) Jubilant

(4) Desperate
Options :



1. %1
2. %2
3.¥3
4, % 4

Question Number : 160 Question Id : 3944843285 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

The rule of good writing is clarity.

(1) Brazen
(2) Cardinal
(3) Permeable
(4) Perfunctory
Options :
1. %1
2.¥2
3.%3
4, % 4
Sub-Section Number : 3
Sub-Section Id : 394484331
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 3944843286 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

The following authority that decides policy bank interest rates on periodical basis is

(1) RBI
(2) Monetary Policy Committee
(3) Finance Ministry
(4) Chief Economic Advisor
Options :
1. %1
2.9 2
3. %3
4. % 4



Question Number : 162 Question Id : 3944843287 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

More money circulation with less quantum of goods produced is one of the reasons
for

(1) Inflation
(2) Contraction
(3) Stagnation
(4) Depression

Options :
1.v 1
2. %2
3.% 3
4. % 4

Question Number : 163 Question Id : 3944843288 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

An illegally altered file that is made in order to steal a software program is known as

(1) Cookie
(2) Copy
(3) Crack
(4) Crash

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 164 Question Id : 3944843289 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

The time taken to initiate a transfer is called .

(1) Seek time

(2) Disk latency

(3) Rotational delay
(4) Data transfer cable

Options :
1. % 1
2.¥2
3. %3
4. % 4

Question Number : 165 Question Id : 3944843290 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

USP is expanded as

(1) Universal Selling Proposal
(2) Unique Selling Proposal
(3) Unique Selling Proposition
(4) Universal Selling Proposition
Options :
1. %]
2. %2
3.3
4. % 4

Question Number : 166 Question Id : 3944843291 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



The promoter of the idea of management by objectives is

(1) Henri Fayol
(2) Rensis Likert
(3) Elton Mayo
(4) Peter Drucker

Options :

1. %]

2. %2

3.% 3

4.4 4

Question Number : 167 Question Id : 3944843292 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Establishment of Goals. policies and procedures for an economic unit is known as

(1) Execution
(2) Implementation
(3) Reviewing
(4) Planning
Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 168 Question Id : 3944843293 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



A business’s short-term assets minus accounts receivable and inventory. divided by
short-term liabilities is known as :

(1) Acid test
(2) Acquisition costs
(3) Adventure capital
(4) Accumulated depreciation
Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 169 Question Id : 3944843294 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Value added services means

(1) Paying more for product

(2) Getting a good discount

(3) Getting more services at little or no cost

(4) Paying less for services than the declared cost

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 170 Question Id : 3944843295 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



A: Why did Ranjit leave suddenly for Dubai ?
B: Well, I smell a rat!

In this conversation B is

(1) Evasive in replying

(2) Suspicious of Ranjit’s motive for travel

{3) Alarmed by sudden appearance of a rat

(4) Expressing his disapproval of A’s question

Options :

1. %1

2.¥2

3.% 3

4. % 4

Sub-Section Number : 4

Sub-Section Id : 394484332
Question Shuffling Allowed : Yes

Question Number : 171 Question Id : 3944843296 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

The files were destroyed. (Change the voice)

(1) Someone destroyed the files.
(2) The files got destroyed.
(3) It is a mystery that files were destroyed.
(4) The files destroyed someone.
Options :
1.¥1
2. %2
3.% 3
4. % 4

Question Number : 172 Question Id : 3944843297 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



A: Why don’t we have a short walk.
B: Sorry. I am totally done up.
In this conversation ‘B’ implies

(1) He had a walk already.

2) He had dressed up for work.
(3) He 1is exhausted.

(4) He is sick.

Options :
1. % 1
2.% 2
3.3
4. % 4

Question Number : 173 Question Id : 3944843298 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Money distributed to the owners of a business as profits 1s known as .

(1) Equity
(2) Interest
(3) Shares
(4) Dividend

Options :

1. %1

2. %2

3. %3

4.4 4

Question Number : 174 Question Id : 3944843299 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



Why do you always have to pick holes in whatever I say.

The underlined idiom means

(1) Praise

2) Ignore

(3) Find fault with
(4) Understand

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 175 Question Id : 3944843300 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

A: “T'm apprehensive of the future”
B: *You seem to have everything one could possibly want. So why are yvou <o
apprehensive?”

‘B” mmplies that *A’ is

(1) Optimistic
(2) Pessimistic
(3) Narcissistic
(4) Opportunistic

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 176 Question Id : 3944843301 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



Unexpectedly. the officer who is the winner of many awards proved to be a man of
straw.

The underlined expression means

(1) Stubbom
(2) Easily overcome
(3) Selt-loving
(4) Disgusting
Options :
1. % 1
2.¥2
3. %3
4. % 4

Question Number : 177 Question Id : 3944843302 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

A: Tt 1s strange. I thought the audience were educated. but they counld not follow
what I said, I was thoroughly disappointed,

B: Don’t cast your pearls before the swine.
‘B’ 15

(1) Measuring the value

(2) Wasting time

(3) Appreciating the value

(4) Getting unnecessanily involved

Options :

1. %1

2.2

3.%3

4. % 4

Sub-Section Number : 5
Sub-Section Id : 394484333
Question Shuffling Allowed : Yes

Question Number : 178 Question Id : 3944843303 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

of people with rich experience of life will provide you much motivation
and guidance.

(1) Take the help
(2) Takes the help
(3) Taking the help
{4) Take help

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 179 Question Id : 3944843304 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

My friend 1s angry me.

(1) Over
(2) On

(3) Upon
(4) With

Options :
1. % 1
2. %2
3.%3
4. ¢ 4

Question Number : 180 Question Id : 3944843305 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



Everyone hates being made to

(1) Look up

(2) Look small
(3) Look over
(4) Look through

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 181 Question Id : 3944843306 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Lawyers are often as greedy and dishonest

(1) Adored
(2) Maligned
(3) Jibed
(4) Gambolled
Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 182 Question Id : 3944843307 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

The government private land to build low-cost housing

(1) Appropriated
(2) Ordaimed

(3) Apprised

(4) Alleviated

Options :



1.¥1
2. %2
3.%3
4. % 4

Question Number : 183 Question Id : 3944843308 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

He me from getting my rightful inheritance.

(1) Prevented
(2) Helped

(3) Encouraged
(4) Tried

Options :
1.v 1
2. %2
3.%3
4. % 4

Question Number : 184 Question Id : 3944843309 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Rohan trom the competition as he felt he needed more preparation.

(1) Backed up
(2) Backed out
(3) Pulled up
(4) Jumped out

Options :

1. % 1

2.¥2

3. %3

4. % 4

Question Number : 185 Question Id : 3944843310 Question Type : MCQ Option Shuffling : No Display



Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

A mere 43% of Indian mobile phones as opposed to almost 80% of men

(1) Woman are owning
(2) Women owning

(3) Womens own

(4) Women own

Options :

1. % 1

2. %2

3.% 3

4.9 4

Sub-Section Number : 6
Sub-Section Id : 394484334
Question Shuffling Allowed : Yes

Question Id : 3944843311 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (186 to 190)
Read the following passage and answer questions

The difference between a physician and a quack 1s this — a physician knows and admits
that his powers are limited. He can aid nature. He can help her remove obstruction
and clear away abnormal growth: but he cannot recreate a broken constitution. or make
a perforated a lung do the work of a sound one. But a quack with his pills. and his
plasters, and his potions. will undertake to cure all the ills that flesh is heir to. In like
manner, the genuine reformer knows that the living law 1s the thought of the people.
and that all Parliament can do is to fit thought to the life of the nation. It is not <o
much speed 1n legislation that 1s wanted. as still. It is not quantity. but quality. that is
required. The highest interests of the State would often be better served by the wise
and liberal administration of old laws than by high pressure production of new and
mmperfect ones. Obstruction or no obstruction, necessary legislation will come in due
time if people want it. Free speech is more precious than all the measures in the
ministerial portfolio. Error of opinion may be tolerated as long as there is the right to
combat it. Discussion is a bulwark against oppression. and the sheet-anchor of liberty.

Sub questions

Question Number : 186 Question Id : 3944843312 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Unlike a quack. a physician

(1) Does not help nature.

(2) Claims that his ability 1s limited.

(3) Denies that he cannot cure every discase and any discase.
(4) Hesitates to recreate a broken constitution.

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 187 Question Id : 3944843313 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Perception of people 1s

(1) In no way related to law
(2) Detrimental to law

(3) Always contrary to law
(4) Directly atfiliated to law

Options :
1. % 1
2. %2
3. %3
4.9 4

Question Number : 188 Question Id : 3944843314 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Legislation thrives on

(1) Speed and not skill

(2) Skill and not speed

(3) Partisan attitude

(4) Undigested information

Options :
1. % 1
2.9 2
3. %3
4. % 4

Question Number : 189 Question Id : 3944843315 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Old laws well observed are

(1) As imperfect as new laws
(2) Better than new laws
(3) Free from the liberty of the new laws
(4) Ugly compared to the new ones
Options :
1. %1
2.9 2
3. %3
4. % 4

Question Number : 190 Question Id : 3944843316 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

By ‘bulwark’ and “sheet-anchor’. the author means

(1) Measures that hinder progress
(2) Impediment and antagonism
(3) Fortification and support
(4) Conditional support
Options :
1. % 1
2. %2
3.3
4. % 4
Sub-Section Number : 7

Sub-Section Id : 394484335
Question Shuffling Allowed : Yes

Question Id : 3944843317 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (191 to 195)

Read the following passage and answer questions



Each of us has locked within us all that 1s necessary to achieve wealth and greatness.
It’s merely a matter of learning to use these hidden assets. of investing them so to
speak. so we can cash in on them. The tragic thing is that so many go through life
without ever putting them to use. Sometimes. trouble and adversity 15 necessary to
make people use their resourcefulness and brain power to achieve success. A book
keeper lost his job as Christmas was approaching. He had no money to buy his 10
year old son a gift. Instead of merely despairing. he went to work making the boy a
gift. Using two wheels from a discarded baby carriage. a few pieces of lumbar from
the basement. and some bright red paint. he constructed a toy that captured the
attention of the entire neighbourhood. Other children wanted similar toys. The
demand grew so fast that the unemployed book keeper turned his basement into a
factory, then moved his production to a real industrial plant. The toy the book keeper
designed was called the *Scooter’. Have you searched carefully for any ‘hidden’
resources you've overlooked simply because they weren’t in some form you could
bank immediately? Have you some plan or idea which might prove of great value if
you brought it mto the open and put it to use? Somewhere you have unused assets.
Put them to work for you and make yourself financially independent.

Sub questions

Question Number : 191 Question Id : 3944843318 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ﬂ-

What are ‘hidden assets™]

(1) Hidden money

2} Accumulated wealth

(3) Secret qualities

(4) Potential for achieving greatness

Options :
1. % 1
2. %2
3. %3
4.v 4

Question Number : 192 Question Id : 3944843319 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What generally forces a person to exploit these “assets™?

(1) Adversity

(2) Resourcefulness
(3) Brain power

(4) Money

Options :
1.v' 1



2. %2
3. %3
4. % 4

Question Number : 193 Question Id : 3944843320 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How did the book keeper manage to give his son a gift?

(1) He used two wheels

(2) He bought a carriage

(3) He bought red paint

(4) He created a ‘scooter’ from junk

Options :
1. % ]
2. %2
3.%3
4.9 4

Question Number : 194 Question Id : 3944843321 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How did the book keeper become rich?

(1) He opened a shop 1n his basement

(2) He started a shop in the neighbourhood
(3) He opened a real industrial plant

(4) He started a factory

Options :
1. % ]
2.% 2
3.3
4. % 4

Question Number : 195 Question Id : 3944843322 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How can one become financially independent?

(1) By using one’s ‘unused’ assets
(2) By becoming rich

(3) By taking up a job

(4) By setting up factories

Options :
1.¥ 1



2. %2

3.%3

4. % 4

Sub-Section Number : 8
Sub-Section Id : 394484336
Question Shuffling Allowed : Yes

Question Id : 3944843323 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (196 to 200)
Read the following passage and answer questions

Leading investors have joined the growing chorus about governments and companies
rusting into producing biofuels as a solution for global warming saying that many
involved n the sector could be jeopardising future profits if they do not consider the
long-term 1mpact of what they are doing carefully.

It 15 essential to build sustainability criteria into the supply chain of the green fuel
project in order to ensure that there 15 no adverse effect on the surrounding
environment and social structures. The report produced by the investors expresses
concern that many companies may not be fully aware of the potential pitfalls in the
biofuel sector.

Production of corn and soya beans has increased dramatically in the last years as an
eco-friendly alternative to fossil fuels but environmental and human rights
campaigners are worried that this will lead to destruction of rain forests, Food prices
could also go up as there is increased competition for crops as both food stuffs and
sources of fuel. Last week. the UN warned that biofuels could have dangerous side
effects and said that steps need to be taken to make sure that land converted to grow
biofuels does not damage environment or cause civil unrest. There is already great
concern about palm o1l, which 1s used 1 many foods in addition to being an important
biotuel, as ramn forests are being cleared m some countries and people driven from
their homes to create palm oil plantations.

An analyst and author of mmvestors” report says that biofuels are not a cure for climate
change but they can play their part as long as governments and companies manage the
social and environmental impacts thoroughly. There should also be greater measure
taken to mcrease efficiency and to reduce demand.

Sub questions

Question Number : 196 Question Id : 3944843324 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Who are not happy about rushmg into producing biofuels?

(1) Governments
(2) Investors
(3) Companies
(4) General public
Options :
1. %1
2.¥2
3.%3
4, % 4

Question Number : 197 Question Id : 3944843325 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Who are jeopardizing future profits?

(1) Those who don’t think of profits,

(2) Those who don’t think of short-term impact
(3) Those who don’t think of long-terin impact
(4) Those who think of long-term 1mpact

Options :
1. % 1
2.% 2
3.3
4. % 4

Question Number : 198 Question Id : 3944843326 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

“Potential pitfalls” means

(1) Possible unsuspected dangers in future
{2) Dangers that are sure to come in future
(3) Dangers that have already been faced
(4) Dangers that would never come

Options :
1.¥ 1
2. %2
3. %3
4. % 4

Question Number : 199 Question Id : 3944843327 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Increase in production of corn and sova bean will not lead to

(1) Destruction of fossil fuels
(2) Destruction of rainforests

(3) Increased competition for crops as food as well as fuel
(4) Increase in food prices

Options :
1.¥1
2. %2
3. %3
4. % 4

Question Number : 200 Question Id : 3944843328 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Sustainability of supply chain in green fuel project is necessary for

(1) Safeguarding profits

(2) Reducing risks

(3) Protecting environment and society
(4) Increasing production

Options :
1. %1
2. %2
3.3
4. % 4



